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ITU    CIVIL ENGINEERING FACULTY

WATER SUPPLY AND ENVIRONMENTAL SANITATIONPRIVATE 


   RECITATION 6 —

                      WATER DISTRIBUTION NETWORKS

1st Question:

The diameters and coefficients of the network show in the figure. It is constructed to transmit water for 5000 people. Assume that the dead point is in B point.

a) Calculate the equivalent discharge and the distributed discharge for taking maximum water consumption of 200lt/ind./day.

b) Check the dead point and diameter are right or not (f =0,03). 

2nd Question: 

The diameter and coefficient of the network show in the figure. The dead point is in the C point. The discharge of ABC pipeline is 50lt/s under the normal operating condition. Calculate the equivalent discharge of ADC pipeline (f =0,03).

3rd Question: 

The BA and CA pipeline are constructed to transmit water for 4000 people per pipeline and the AH is for 6000 people. Take maximum water consumption of 300lt/ind./day. (Negligible the discharge for the fire) Calculate the elevation of H point. Take (hk)BA= 5 m, (hk)CA= 9,5 m, (P/()min =20m and f =0,03.
4th Question: 

The bracket number is own elevation and the pipe axis is under 1m from ground. There are reservoir that has the height of water is 5 m at H and A points. Assumed the valve at B and C points always closed and  (hk)AD= 3m, (hk)DB=(hk)DC=2m, (hk)DE= 10,0m (P/()min=30m (P/()max=110m      f =0,03 and DBE=0,20m.

a) The slope of ground Jz = 0,117 and the hydraulic slope is J=0,015 for AH pipeline. Calculate the elevation and location of the reservoir at H.

b) Is it suitable the location of the reservoir at the H point? Why?
c) Calculate distributed discharge of BE pipeline and pressure at the E point according to formation of the dead point at the E point. 
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